Latitude and longitude Neme

Fill in the circle next to the correct answer. Use the world map.

1. Alocation at 0 degrees and 0 dsegrees - where the Equator and Prime Meridian cross - is nearest
the continent of:

Africa North America @ Asia ‘ Antarctica

2. Alocation at 60 degrees north and 100 degrees east is in:

Europe Australia @The Atlantic Ocean ‘ Asia

3. Alocation at 20 degrees south and 60 degrees west is in:

Africa South America @ Australia The Pacific Ocean

4. A location at 40 degrees north and 160 degrees west is in:

North America The Indian Ocean @ The Pacific Ocean Europe

5. Alocation at 80 degrees south and 80 degrees east is in:

Asia Antarctica @ The Atlantic Ocean Africa
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Key

Fill in the circle next to the correct answer. Use the world map.

1. Alocation at 0 degrees and 0 dsegrees - where the Equator and Prime Meridian cross - is nearest

the continent of:

‘ Africa North America @ Asia

2. Alocation at 60 degrees north and 100 degrees east is in:

Europe Australia @ The Atlantic Ocean

3. Alocation at 20 degrees south and 60 degrees west is in:

Africa . South America @ Australia

4. Alocation at 40 degrees north and 160 degrees west is in:

North America The Indian Ocean ‘ The Pacific Ocean

5. Alocation at 80 degrees south and 80 degrees east is in:

Asia ‘ Antarctica @ The Atlantic Ocean

‘ Antarctica

‘ Asia

The Pacific Ocean

Europe

Africa



